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Y=240 (dx=6.9e-02, do=-4.9e-02)

f=10, X=4017.2

Y=481 (dx=3.4e-02, do=-3.1e-02)

pfsArm
1 m—(x=4012.53, 0=1.21)

calExp
m—(x=4012.60, 0=1.17)
e Residual*s
= Trace

pfsArm
1 m—(x=4011.19, 0=1.21)

calExp
m—(x=401122, 0=1.18)
e Residual*5
== Trace

Y=1445 (dx=8.3e-02, do=-1.2e-02)

pfsArm
m—(x=4010.05, 0=1.21)
calExp
= (x=4010.14, 0=1.20)
e Residual*5
= Trace

pfsArm
= (x=4010.46, 0=122)

T
calExp

= (x=4010.54, 0=1.21)

e Residual*5

- Trace

= (x=4013.79, 0=1.20)
e Residual*5
= Trace

|
Y=2168 (dx=6.2e-02, do=-2.0e-02) Y=24009 (dx=-2.7€-02, do=5.6e-03)
I pfsArm T u I pfsArm
= (x=4013.73, 0=1.22) 1 = (x=4015.47, 0=1.23)
calExp calEx

P
—(x=4015.45, 0=1.24)
e Residual*5
= Trace

| o e 1|

Y=3132 (dx=-5.2e-02, do=6.1e-02)

Y=3373 (dx=-3.7e-04, do=-8.7e-02)

pfsArm
— (x=4022.67, 0=123)

calExp
—(x=4022.62, 0=1.29)
e Residual*5
| Trace

T pfsArm
—(x=4025.86, 0=123)

calExp
m—(x=4025.86, 0=1.14)
e Residual*5

4010 4020

4

010 4020 4030 4040

Y=722 (dx=6.5e-02, do=8.7e-03)

pfsArm
1 —(x=4010.34, 0=1.22)

calExp
= (x=4010.41, 0=122)
m— Residual*s
== Trace

pfsArm
m—(x=4011.24, 0=1.23)

calExp
= (x=4011.32, 0=1.24)
e Residual*5
- Trace

I pfsArm
| =™ (x=4017.52, 0=123)

calExg
= (x=4017.55, 0=121)

e Residual*s
== Trace

pfsArm
= (x=4029.58, 0=1.23)

calExp
m—(x=4029.37, 0=1.29)
e Residual*s
= Trace

4020 4030 4040

Y=963 (dx=3.5e+00, do=2.7e-01)

T uu

pfsArm
= (x=4006.51, 0=0.91)

calExp
= (x=4009.97, 0=1.18)
e Residual*5

= Trace

Y=1927 (dx=-5.4e-01, do=-5.6e-01)

pfsArm
= (x=4012.93, 0=1.86)

calExp
m—(x=4012.39, 0=1.30)

e Residual*5
- Trace

]
I
- _I- — — — —
T
1

Y=2891 (dx=-9.0e-03, do=1.7e-02)

pfsArm
| ™ (x=4019.88, 0=122)
1 calExp

= (x=4019.87, 0=1.24)

e Residual*5
== Trace

pfsArm
= (x=4033.80, 0=1.24)

calExp
m—(x=4033.67, 0=1.24)
e Residual*5
= Trace
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Y=240 (dx=4.4e-02, do=3.6e-02)

f=12, X=4004.8

Y=481 (dx=2.1e-03, do=2.8e-02)

Y=722 (dx=-1.4e-02, do=2.2e-02)

T pfsArm pfsArm T
1 = (x=4000.05, 0=1.17) = (x=3998.69, 0=1.18) 1
1 calExp calExp 1

= (x=4000.09, 0=1.21)
e Residual*s

= (x=3998.69, 0=1.20)
— Residual*s
w | Trace

T pfsArm
| ™ (x=3997.84, 0=120)

1 calExp
= (x=3997.82, 0=122)

= Residual*5
== Trace

Y=1686 (dx=2.5e-02, do=4.8e-02)

1
Y=1204 (dx=2.7e-02, do=1.6e-02) Y=1445 (dx=3.1e-02, do=9.8e-03)
I pfsArm I pfsArm
| ™ (x=3997561,0=1.18) 1 = (x=3998.07, 0=1.18)
I = (C;LE3X9PQ7,E3, 0=1.19) I r— (C:I=E3x9pg&10, 0=1.19)

e Residual*5
= Trace

e Residual*5
= Trace

1
Y=2168 (dx=-1.1e-03, do=5.7e-02) Y=2409 (dx=2.7e-02, do=4.9e-02)
pfsArm I I pfsArm
= (x=4001.37, 0=1.18) 1 1 = (x=4003.10, 0=1.18)
— calExp 1 1 — calexp
(x=4001.37, 0=1.24) (x=4003.12, 0=1.23)

= Residual*5
w— Trace

e Residual*5
= Trace

Y=3132 (dx=-1.2e-02, do=7.1e-03) Y=3373 (dx=-1.2e-01, do=2.1e-02)
T pfsArm T pfsArm
| = (x=4010.27, 0=1.18) | ™ (x=4013.45,0=1.18)
I r— (CEI:E:(?IO.ZS, 0=1.19) I — (c:I:E:gl3 33, 0=1.20)

e Residual*5
| Trace

e Residual*5

pfsArm
| = (x=399878,0=122)
1 calExp
= (x=3998.81, 0=1.27)
= Residual*5
= Trace

Y=2650 (dx=-1.9e-02, do=7.7e-03)

pfsArm

1 = (x=4005.13, 0=1.19)
1 calExp

= (x=4005.11, 0=1.20)

e Residual*s

Y=3614 (dx=-5.5e-02, do=-1.3e-02)

pfsArm
1 = (x=4017.14, 0=1.18)

calExp
m—(x=4017.08, 0=1.17)
e Residual*s
= Trace

4000 4010 4020

4000 4010 4020

4010 4020 4030

Y=963 (dx=1.9e-02, do=2.0e-02)

pfsArm
= (x=3997.54, 0=1.18) 1

: | |

calExp
= (x=3997.56, 0=1.20)

e Residual*5
== Trace

Y=1927 (dx=-7.6e+00, do=nan)

pfsA

fsArm
= (x=3996.46, 0=0.50)

calExp
(x=3988.85, o=nan)

e Residual*5
== Trace

_H.____ _—

Y=2891 (dx=-1.9e-02, do=2.7e-02)

pfsArm

I ™ (x=4007.50, 0=1.18)
1 calExp

= (x=4007.48, 0=121)

e Residual*5
== Trace

Y=3855 (dx=-1.7e-01, do=1.4e-02)

pfsArm
| ™ (x=4021.34,0=1.19)

calExp
= (x=4021.18, 0=1.20)
m—Residual*s
- Trace
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Y=240 (dx=2.3e-02, do=-2.3e-02)

f=15, X=3986.2

Y=481 (dx=1.3e-02, do=8.5e-03)

T pfsArm
| =™ (x=3981.32,0=117)

1 calExp
= (x=3981.35, 0=1.15)

e Residual*s
= Trace

T pfsArm
1 = (x=3980.03, 0=1.17)

1 calExp
= (x=3980.05, 0=1.18)

e Residual*5
== Trace

Y=1204 (dx=4.1e-02, do=1.1e-03)

Y=1445 (dx=3.0e-02, do=2.5e-02)

T fsArm pfsArm
1 = (x=3979.03, 0=1.17) | = (x=3979.48,0=1.18)
1 calExp . 1 calExp

= (x=3979.07, 0=1.17) = (x=3979.51, 0=1.20)

e Residual*5
= Trace

e Residual*5
= Trace

1
Y=2168 (dx=3.6e-03, do=3.2e-02) Y=2409 (dx=4.1e-02, do=2.1e-02)
I pfsArm pfsArm
| ™ (x=398276,0=119) | ™ (x=3984.50,0=1.18)
I — ((:LE;stue, 0=122) 1 [ ((:LE;QPSA 54, 0=1.21)

e Residual*5
w— Trace

- e Residual*5

Y=3132 (dx=-1.0e-02, do=1.0e-02)

1
Y=3373 (dx=-1.1e-02, do=-2.3e-02)

pfsArm
| ™ (x=3991.62, 0=1.18)

| calExp

(x=3991.61, 0=1.19)
e Residual*5
| Trace

pfsArm
7 | = (x=3994.75, 0=1.19)

calExp
= (x=3994.74, 0=1.16)
= Residual*5
- Trace

3980 3990 4000

3980 3990 4000 4010

Y=722 (dx=3.3e-02, do=2.7e-03)

- T pfsArm
| ™ (x=397925,0=118)

1 calExp
- (x=3979.29, 0=1.18)

e Residual*5

Y=963 (dx=1.7e-02, do=2.4e-02)

Y=1686 (dx=2.4e-02, do=1.3e-02)

T pfsArm
| ™ x=3978.88 0=118)

1 calExp
= (x=3978.90, 0=121)

e Residual*5
== Trace

I pfsArm
| ™ (x=398028,0=1.19)
1 calExp

= (x=3980.30, 0=1.20)

e Residual*5
= Trace

Y=1927 (dx=6.4e-03, do=7.1e-02)

7| = Residual*s

Y=2650 (dx=-4.2e-01, do=-6.5e-01)

pfsArm T
= (x=3981.38, 0=1.19) 1

calExp 1
= (x=3981.38, 0=1.26)

= Trace

pfsArm
= (x=3986.96, 0=1.88)
calExp
m—(x=3986.53, 0=1.23)
= Residual*5
- Trace

Y=2891 (dx=5.3e-02, do=2.7e-02)

Y=3614 (dx=1.8e+00, do=-7.7e-01)

pfsArm
| ™ (x=3988.85,0=1.19)

calExp
m—(x=3988.91, 0=121)

e Residual*5
== Trace

=]
pfsArm
= (x=3996.59, 0=1.93)

calExp
= (x=3998.41, 0=1.16)
= Residual*5
= Trace

1H-ttH-F-7- -

Y=3855 (dx=-1.6e-01, do=1.9e-02)

3990 4000 4010

pfsArm
I ™ (x=4002.58, 0=1.18)

calExp
= (x=4002.42, 0=1.20)
m—Residual*s
- Trace

3990 4000 4010
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Y=240 (dx=-1.0e-02, do=7.6e-03)

f=19, X=3961.1

Y=481 (dx=1.2e-02, do=3.7e-03)

T pfsArm
1 = (x=3956.09, 0=1.18)
calExp
= (x=3956.08, 0=1.19)

e Residual*s
= Trace

T pfsArm
| ™ (x=3954.75,0=128)
1 calExp
= (x=3954.76, 0=1.28)
m— Residual*s
== Trace

Y=1204 (dx=3.9e-02, do=5.1e-03)

1
Y=1445 (dx=4.4e-02, do=1.7e-02)

e Residual*5
= Trace

T fsArm - T pfsArm
1 = (x=3953.97, 0=1.18) | = (x=3954.41,0=122)
1 calExp 1 calExp

= (x=3954.01, 0=1.18) = (x=3954.45, 0=1.23)

e Residual*5
= Trace

Y=2168 (dx=-1.8e-02, do=8.2e-02)

Y=2409 (dx=-9.5e-03, do=-1.1e-01)

e Residual*5
w— Trace

I pfsArm I pfsArm

1 | ™ (x=3957.68,0=1.26) | ™ (x=3959.44,0=122)
1 calExp 1 calExp

= (x=3957.66, 0=1.35) - = (x=3959.43, 0=1.11)

e Residual*5

Y=3132 (dx=-5.2e-02, do=-6.0e-04)

Y=3373 (dx=-1.3e-01, do=1.0e-01)

pfsArm
| = (x=3966.49, 0=1.22)

calExp
- = (x=3966.43, 0=1.22)
e Residual*5
| Trace

i pfsArm
| ™ (x=3969.58, 0=124)

calExp
= (x=3969.46, 0=1.34)
= Residual*5
- Trace

3950 3960 3970 3980

3960 3970 3980

Y=722 (dx=-5.9e-03, do=8.6e-03)

Y=963 (dx=-1.4e-04, do=4.4e-02)

- T pfsArm
1 = (x=3954.12, 0=1.19)
1 calExp

= (x=3954.11, 0=1.20)
m— Residual*s

T pfsArm
| ™ (x=3953.73,0=128)

1 calExp
= (x=3953.73, 0=1.32)

1
Y=1686 (dx=4.7e-02, do=8.7e-03)' Y=1927 (dx=-2.0e-02, do=1.0e-01)
. pfsArm I pfsArm
| ™ (x=395523,0=120) | ™ (x=3956.34, 0=121)
I r— (c;I=E3x9pSS4ZB, 0=121) I — (CfLE;QpS&BZ, 0=1.31)

e Residual*5
= Trace

e Residual*5

Y=2650 (dx=-3.3e-02, do=7.8e-02)

Y=2891 (dx=-1.1e-01, do=7.0e-02)

T I pfsArm
1 — (x=3961.41, 0=127)

1 calExp
= (x=3961.38, 0=1.35)

e Residual*s

I pfsArm
| ™ (x=3963.72,0=127)
1 calExp

— (x=3963.60, 0=1.34)

e Residual*5

Y=3614 (dx=-9.6e-02, do=-6.0e-02)

Y=3855 (dx=-1.9e-01, do=5.8e-02)

pfsArm
| = (x=397322,0=120)

calExp
= (x=3973.12, 0=1.14)
= Residual*5

pfsArm
| = (x=3977.32, 0=1.20)

calExp
= (x=3977.14, 0=1.26)
m—Residual*s
- Trace

3960 3970 3980
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Y=240 (dx=6.1e-02, do=2.7e-02)

f=22, X=3942.5

Y=481 (dx=2.2e-02, do=-1.8e-02)

pfsArm
| ™ (x=3937.42,0=1.19)

1 calExp
= (x=3937.48, 0=1.22)

e Residual*s
= Trace

pfsArm
1 = (x=3936.23, 0=1.19)

— 1 calExp

= (x=3936.25, 0=1.17)

e Residual*5

Y=1204 (dx=5.1e-02, do=-2.4€-02)

Y=1445 (dx=5.0e-02, do=-3.5€-02)

pfsArm
| ™ (x=3935.40, 0=1.19)

calExp
= (x=3935.46, 0=1.17)
= Residual*5

T fSArm
| ™ (x=3935.86, 0=1.19)
- 1 calExp

= (x=3935.91, 0=1.16)
= Residual*5
= Trace

1 1

Y=2168 (dx=6.2e-03, do=1.3e-02) Y=2409 (dx=-2.7e-02, do=-2.3e-02)
I pfsArm I pfsArm
| = (x=3939.24, 0=120) ] ™ (x=3940.88, 0=121)
I e - r— ((fggdo,es, 0=1.19)

m—(x=3939.25, 0=1.22)
= Residual*5

e Residual*5

Y=3132 (dx=-3.4e-02, do=3.6e-02)

Y=3373 (dx=-4.9e-03, do=3.6e-02)

pfsArm
| = (x=3947.88,0=121)

| calExp

= (x=3947.85, 0=1.25)
= Residual*5
= Trace

pfsArm
1 = (x=3951.04, 0=120)

calExp
= (x=3951.03, 0=1.24)
= Residual*5

3940 3950 3960

3940 3950 3960

Y=722 (dx=6.3e-03, do=-2.1e-02)

T pfsArm
| ™ (x=3935.51,0=120)

1 calExp
= (x=3935.52, 0=1.17)

= Residual*5
== Trace

1
Y=1686 (dx=2.6e-02, do=-1.8e-02)

I fsArm
| ™ (x=3936.69, 0=120)

T 1 calExp
= (x=3936.71, 0=1.18)

e Residual*5
= Trace

1
Y=2650 (dx=4.2e-02, do=-8.4e-02)
I pfsArm
7 | = (x=3942.84,0=127)
| - (cfle;gaz.ss, 0=1.18)

e Residual*s
== Trace

Y=3614 (dx=-1.1e-01, do=2.4e-02)

T pfsArm
| ™ (x=3954.55, 0=121)
| calExp

= (x=3954.44, 0=124)

- e Residual*s

== Trace

3940 3950 3960 3970

Y=963 (dx=4.1e-02, do=-2.4e-02)
T

pfsArm
| ™ (x=393527,0=119)

1 calExp
= (x=3935.31, 0=1.17)

e Residual*5
== Trace

pfsArm
= (x=3934.42, 0=0.49)
calExp
= (x=3937.78, 0=1.26)
e Residual*5
= Trace

Y=2891 (dx=-2.1e-02, do=3.5e-02)
T

pfsArm
1 = (x=3945.26, 0=121)

] 1 calExp
(x=3945.24, 0=1.24)

e Residual*5

Y=3855 (dx=-1.4e-01, do=-1.8e-02)

pfsArm
| = (x=3958.62, 0=121)
calExp
= (x=3958.48, 0=1.19)

e Residual*5
== Trace

i
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Y=240 (dx=-6.3e-02, do=6.7e-01)

f=624, X=221.9

Y=481 (dx=-1.1e-01, do=3.7e-01)

o |

M

|
|
L

e Residual*s
== Trace

-

1=

T pfsArm L T = pfsArm
1 = (x=207.32, 0=121) 1 = (x=211.11, 0=1.18)
calExp 1 calExp
= (x=207.26, 0=1.87)

- (x= 211 00, 0=1.55)
— Residual*s
= Trace

E

Y=1204 (dx=-1.5e-01, do=1.0e-01)

I pfsArm pfsA
1 = (x=219.49, 0=1.26) = (x=221.57, 0=128)
1 calEx calExp

= (x=221.56, 0=1.63)

- x= 219 34, 0=1.37)
e Residual*5
= Trace

e Residual*5

]

Y=2409 (dx=2.6e-01, do=8.0e-01)

i

pfsArm

= (x=226.14, 0=1.24)

calEx|

P
= (x=226.25, 0=1.60)
me= Residual*s

= Trace

pfsArm

- (x=227.09, 0=125)
calExp

= (x=227.36, 0=2.05)

e Residual*5

= Trace

Y=3132 dx—-5 Se- 03 do=4.0e-01)

Y=3373 (dx=-4.7e-01, do=8.1e-01)

= Trace

pfsArm
= (x=228.07, 0=121)

calExp
- = (x=228.06, 0=1.61)
e Residual*s

TTL

pfsArm
= (x=227.52, 0=1.38)

calExp
-—(x= 227 04, 0=2.19)
e Residual*5
= Trace

230

240

230 240

Y=722 (dx=-2.0e-01, do=2.0e-01)

pfsArm
1 = (x=214.31, 0=121)
1 calExp

= (x=214.11, 0=1.41)
— Residual*s

Trace

Y=1686 (dx—-2 Oe-01, do=1.6e- Ol)

!

fsA
(x 223.36, 0=1.26)

X
(x=223.16, 0=1.42)
Residual*5

i Trace

TUL

calExp
—
—
-

Y=2650 (dx=-3.0e-01, do=4.8e-01)

pfsArm
- = (x=227.60,

calExp
—(=227.30,
= Residual*5
w— Trace

0=1.34)

0=1.82)

e

Y=3614 (dx=-4.0e-01, do=3.9e-01)

==

N p——
L

pfsArm
= (x=226.66, 0=1.39)
calExp
= (x=226.26, 0=1.78)
= Residual*5
- Trace

210

220

230

240

Y=963 (dx=2.8e-01, do=3.9e-01)

pfsArm
= (x=217.15, 0=

calExp
_x= 247, 43, 0=
e Residual*5
== Trace

1.19)

1.58)

Y=1927 (dx=3.4e-01, do=6.5e-

pfsArm
— (x=224.97, 0=122)

calExp

= (x=225.31, 0=1.86)
e Residual*5

= Trace

d

I

I

|

2, do=5.4e-

01)

— 1 S

pfsArm
calEx

mems Residual*s

= (x=228.09, 0=1.24)

p
= (x=228.04, 0=

1.78)

pfsArm

= (x=225.45, 0=1.28)
calExp

= (x=225.28, 0=1.73)

= Residual*5

= Trace
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Y=240 (dx=-1.0e-01, do=6.2e-01)

Y=481 (dx=-5.0e-01,

f=627, X=203.2

do=2.5e-01)

Tl

pfsArm
T (x=188.42, 0=1.30)
calExp
= (x=188.32, 0=1.92)
e Residual*5
== Trace

T

4 b 1l 1

pfsArm
= (x=19221, 0=1.31)

calExj
_(x= 191 71, 0=1.56)
7| == Residual*5

= Trace

'H'"'ﬂ"

Y=1204 (dx=3.4e-02, do=1.3e-01) Y=1445 (dx=-1.4e-01, do=7.7e-01)
pfsArm I pf;A‘ Nl H I -

= (x=200.60, 0=1.48) 1 = (x=202.93,0=1.32) 1

o calExp calEx, 1
(x=200.64, 0=1.61)

= Residual*5
w= | Trace

_(x= 202 79, 0=2.09)

E
1

7| == Residual*s I
= Trace

Y=2409 (dx=-1.1e+00,

7| == Residual*5

pfsArm
= (x=207.31, 0=1.40)

calExp
= (x=207.23, 0=1.66)
= Trace

1 J

iy

pfsArm
= (x=208.82, 0=2.00)

calExp
— == (x=207.75, 0=1.98)

e Residual*5
w— Trace

| —

Y=3132 (dx=5.2e-01, do=7.3e-01)

Y=3373 dx—-7 le- 01

| —

pfsArm
— (x=209.25, 0=1.33)

calExp
m—(x=209.77, 0=2.06)

s Residual*s

Pl

pfsArm
-1 = (x=208.49, 0=1.62)

calExp
= (x=207.79, 0=1.93)
e Residual*s
= Trace

do=3.1e-01)

200

210

i

220

Y=722 (dx=3.4e-02, do=7.2e-02)

T pfsArm
1 = (x=195.48, 0=1.32)
1 calExp

= (x=195.51, 0=1.39)
— Residual*s

F

Y=1686 (dx=6.9e-03, do=-5.9e-03)

I pfsArm
| ™ x=204.53,0=145)
1 calExp

= (x=204.54, 0=1.44)

= Residual*5
- Trace

L

Y=2650 (dx=-3. 3e-01, do=6.0e-01)

il 1

"T1 lx 209 00, 0=1.31) ‘J-

1

N L

- (x zos 67, 0=1.92) 1
== Residual*5 -
= Trace
- -—— - ] -l -
T -
1

Y=3614 (dx=2.1e-01, do=4.2e-01)

L

pfsArm
= (x=208.05, 0=127)

calExp

(x=208.26, 0=1.69)
= Residual*s
= Trace

200

210

220

Y=963 (dx=-1.8e-01, do=5.6e-01)

pfsArm

== Residual*5
== Trace

'_H‘_"L

1
= (x=198.31,

calExp
- (x=198.12,

0=1.33)

0=1.89)

1

pfsA
= (x=206.15, 0=1.34)

calExp
= (x=206.27, 0=1.86)
= Residual*5

=

pfsArm
= (x=209.31, 0=1.28)

calExp
= (x=208.97, 0=1.52)
e Residual*5
= Trace

Y=3855 (dx=-3.5e-01, do=6.1e-01)

|
1
1
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__ pfsAm
= (x=206.24, 0=1.65)

calExp
- (x= 205 89, 0=2.26)
s Residual*5
w=  Trace
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Y=240 (dx=-1.7e-01, do=5.7e-01)

f=628, X=197.0

Y=481 (dx=-1.1e-01, do=3.0e-01)

T pfsArm
= (x=182.31, 0=1.22)
calExp
= (x=182.14, 0=1.79)
= Residual*s
== Trace

pfsArm
1 = (x=186.13, 0=120)

calExp
= (x=186.02, 0=1.50)
e Residual*s
= Trace

]

Y=1204 (dx=-6.8e-02, do=1.4e-01)

pfsArm
| ™ (x=194.57,0=137)

calExp
= (x=194.51, 0=1.51)
e Residual*5

= Trace

pfsArm
= (x=196.52, 0=1.52)
calExp
- (x=196.42, 0=174)
= Residual*5
= Trace

u

1
Y=2168 (dx=-1.8e-01, do=3.3e-01)

Y=2409 (dx=-5.4e+00, do=1.4e+00

)

e Residual*5
= Trace

I pfsArm pfsArm 1
1 = (x=201.29, 0=128) == (x=205.00, 0=0.00)
1 calExp calExp

= (x=201.11, 0=161) = (x=199.58, 0=1.44)

e Residual*5
= == Trace

pfsArm
= (x=203.17, 0=127)

calExp
= (x=203.33, 0=1.69)

e Residual*5
= Trace

pfsArm
= (x=202.44, 0=1.54)

calExp
= (x=202.08, 0=2.03)

| l

= Residual*5
w— | Trace
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190 200 210

Y=722 (dx=-1.4e-02, do=8.8e-02)

T pfsArm
1 = (x=189.40, 0=123)

calExp
= (x=189.38, 0=1.32)
e Residual*s
w1 Trace

Y=963 (dx=-3.0e-01, do=3.7e-01)

Y=1686 (dx=-2.7e-01, do=1.5e-01)

pfsArm
1 = (x=192.25, 0=1.22)
calExp
= (x=191.94, 0=1.59)
s Residual*s
== Trace

pfsArm

1 == (x=198.49, 0=1.35)
calExp

= (x=198.23, 0=1.50)

= Residual*5

= Trace

Y=2650 (dx=-3.0e-02, do=2.5e-01)

- r
T pfsArm
1 = (x=200.12, 0=122)
calExp
= (x=200.01, 0=1.34)
mmm= Residual*5
= Trace

[ oo
= (x=202.54, 0=1.58)

T

l calExp
m—(x=202.51, 0=1.83)

= Residual*5

- Trace

il

Y=2891 (dx=3.8e-01, do=4.1e-02)

L

pfsArm
= (x=203.18, 0=1.31)

_I' calexp
= (x=203.56, 0=1.35)
udl e Residual*5
-
=

I
1
1
L
1 - Trace
1
1
1
T
1

pfsArm
= (x=201.49, 0=1.60)

] T
calExp
(x=201.58, 0=1.71)
= Residual*5
= Trace

1/

Y=3855 (dx=1.8e-01, do=3.0e-01)

[ oram
= (x=200.42, 0=1.31)

calExp
= (x=200.60, 0=1.60)
= Residual*5
= Trace
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Y=240 (dx=-9.4e-02, do=5.3e-01)

f=629, X=190.8

Y=481 (dx=8.1e-02, do=2.0e-01)

7| == Residual*s

pfsArm -1 pfsArm
= (x=176.13, 0=1.19) 1 = (x=179.97, 0=1.19)
calExp 1 calExp

= (x=176.04, 0=1.71)

= Trace

_ = 180, 05, 0=1.39)
e Residual*s
= Trace

i

Y=1204 (dx=-4.4e-02, do=1.8e-01)

Y=1445 (dx=-7.9e-02, do=2.9e-01)

I pfsArm pfsArm
1 = (x=188.51, 0=1.25) 1 = (x=190.56, 0=1.31)
1 calEx 1 calExp

= (x=190.48, 0=1.61)

- x= 135 47, 0=1.42)
e Residual*5
w— Trace

e Residual*5
= Trace

Y=2168 (dx=1.3e-01, do=1.3e-01)

Y=2409 (dx=5.3e+00, do=1.4e+00)

pfsArm
= (x=195.19, 0=1.24) 1

calExp
= (x=195.32, 0=1.36)
e Residual*5
w— Trace

(=

pfsArm
= (x=193.00, 0=0.00)

calExp

(x=198.29, 0=1.42)
e Residual*5
= Trace

=

Y=3132 (dx=-4.2e-01, do=2.8e-01)

pfsArm
= (x=197.04, 0=1.26)

calExp
= (x=196.62, 0=1.54)
= Residual*5
- = Trace

pfsArm
T = (x=196.52, 0=1.29)

calEx
- (x= 19671 0=1.76)
e Residual*5
= Trace

200 210

180 190 200 210

Y=722 (dx=-6.4e-02, do=1.4e-01)

T pfsArm
1 = (x=183.28, 0=1.15)

calExp
_ = 183: 21, 0=1.30)
e Residual*s
= Trace

Y=1686 (dx=-2.6e-02, do=1.5e-01)

7| == Residual*5

pfsArm
= (x=192.43, 0=125) 1

calExp
— (x=192.40, 0=1.40) -

w— Trace

Y=2650 (dx—-2 6e-01, do=2.7e-01)

pfsArm
= (x=196.58, 0=1.40)

calExp
—(x=196.31, 0=1.66)
= Residual*5
w— | Trace

Y=3614 (dx=-7.3e-02, do=2.3e-01)

pfsArm
= (x=195.56, 0=1.35)

calExp
- (x= 19549 0=1.59)
e Residual*s
= Trace

180

Y=963 (dx=4.4e-02, do=3.1e-01)

1 = (x=186.11, 0=1.19)

_x= 186, 16, 0=1.50)
wm—_ Residual*5
== Trace

pfsArm

calExp

m
= (x=193.99, 0=1.22)

calExp
= (x=193.84, 0=1.51)
mmm= Residual*5

== Trace

]

fSArT

| T |
I

Y=2891 (dx=-8.5e-02, do=-4.1e-01)
T
= F:ﬂg_gg, 0=123) 1 - ]
— calexp 1
(x=197.00, 0=0.82)
m— Residual*5 B
== Trace
Y=3855 (dx=-4.5e-01, do=2.7e-01)
T
1 T F;Sqrg:zs 0=1.30)
| calEx|

(x= 193 80, 0=1.57)
me Residual*5
w Trace

200
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Y=240 (dx=-7.1e-01, do=5.5e-01)

f=630, X=184.5

Y=481 (dx=-2.7e-01, do=2.4e-01)

pfsArm
- (x=169.75, 0=1.28)

calExp

= (x=169.04, 0=1.84)
— Residual*s

= Trace

pfsArm
= (x=173.66, 0=1.21) 1

calExp
= (x=173.39, 0=1.44)
e Residual*s
== Trace

Y=1204 (dx=-1.9e-01, do=2.7e-01)

Y=1445 (dx=-1.6e-02, do=3.0e-01)

pfsArm
= (x=182.33, 0=1.20)

calExp

T = (x=182.14, 0=1.48)
= Residual*5
= Trace

L

pfsArm I
T = (x=184.44, 0=121) 1
calExp

= (x=184.42, 0=1.51)
e Residual*5
= Trace

Y=2168 (dx=-9.9e-02, do=2.9e-01)

Y=2409 (dx=2.7e+00, do=3.9e-01)

pfsArm I T pfsArm

= (x=188.86, 0=1.29) 1 = (x=186.73, 0=1.48)
calExp 1 calExp

= (x=188.76, 0=1.58) — (x=189.44, 0=1.87)

e Residual*5
w= | Trace

= Residual*5
w— Trace

“TTTIr ="
1

Y=3132 (dx=-1.8e-01, d0=4.3e|-01)

Y=3373 (dx=-3.1e-02, do=5.1e-01)

pfsArm
= (x=190.68, 0=1.32)

!

calExp
= (x=190.50, 0=1.74)
e Residual*5
= Trace

pfsArm
= (x=190.31, 0=1.29)

calExp
m—(x=190.28, 0=1.80)
. Residual*s
= Trace

T

180 190 200

180 190 200

Y=722 (dx=-8.6e-01, do=-7.0e-01)

7| == Residual*5

pfsArm
= (x=177.85, 0=1.99)

calExp
- (x=176.99, 0=1.29)

== Trace

-r=--Ft-1F-

Y=963 (dx=-2.2e-01, do=2.4e-01)

1
Y=1686 (dx=1.5e-01, do=8.5e-02)

pfsArm
= (x=179.80, 0=1.24)

calExp
= (x=179.58, 0=1.48)
m— Residual*s

== Trace

7| == Residual*s

pfsArm
= (x=186.24, 0=1.23)

calExp
= (x=186.40, 0=1.31)

w— Trace

kL

Y=1927 (dx=-1.6e-01, do=3.5e-01)

7| == Residual*5

n
Y=2650 (dx=-2.1e-01, do=4.6e-01)

pfsArm I
= (x=187.72, 0=123) 1

calExp
= (x=187.56, 0=1.58)

== Trace

pfsArm T
_| = (x=190.50, 0=1.25) |

calExp 1
= (x=190.29, 0=1.71)
= Residual*5
- Trace

=
k1 ] e | il -t -

Y=2891 (dx=-2.0e-01, do=4.4e-01)

Y=3614 (dx=-1.1e-01, do=4.8e-01)

L= —

pfsArm
= (x=190.76, 0=1.28)

calExp
m—(x=190.56, 0=1.72)
e Residual*5

w—  Trace

L]

] m=—Residual*5

pfsArm
= (x=189.40, 0=127)

calExp
= (x=189.29, 0=1.76)

== Trace

pfsArm

= (x=188.03, 0=1.25)
calExp

= (x=187.60, 0=1.65)

e Residual*s

= Trace
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Y=240 (dx=-2.2e-01, do=7.8e-01)

f=631, X=178.2

Y=481 (dx=-1.4e-01, do=4.5e-01)

=i

il P&

pfsArm
== (x=163.44, 0=1.25)
calExp
= (x=163.22, 0=2.03)
w Residual*s
= Trace

pfsArm
= (x=167.36, 0=1.19)

calExp
_(x= 167 22,0=1.64)
— Residual*s

== Trace

o

Y=1204 (dx=3.2e-01, do=6.1e- o Y=1445 (dx=2.6e-01, do=>5.4e-01)
T I pfsA h pfs;r;’\' 1
= (x=176.07, 0=1.31) = (x=178.14, 0=1.32)
calEx _ calExp
— (= 176 38, 0=1.91) = (x=178.41, 0=1.86)
e Residual*5 = Residual*5
= Trace = Trace
L ] = i L =
- —— - - - - 1= 17— e
r ﬂ [

Y=2168 (dx=-9.5e-01, do=4.4e-01)

pfsArm
= (x=182.66, 0=1.23)

calExp.
m—(x=181.71, 0=1.66)
= Residual*5

_| = Trace

Tt

pfsArm
= (x=183.37, 0=1.43)

calExp
—(x=183.64, 0=1.97)

e Residual*s
w— | Trace

|

Y=3132 (dx=8.7e-01, do=-2.9e-01)

2e-02, do=2.9e-01)

|E

i
Nl A

pfsArm
= (x=184.35, 0=1.36)

calExp

- x= 185 23, 0=1.07)
" Residual*s

== Trace

2N

—__ pfsAm
= (x=183.52, 0=1.66)

calExp

T (= 183 57, 0=1.94)
wmm= Residual*s

== Trace

il

190 200

170

Y=722 (dx=3.2e+00, do=9.4e-01)

pfsArr

m
= (x=167.46, 0=0.50)

calExp
= (x=170.62, 0=1.43)
= Residual*5

= Trace

4}

Y=1686 (dx=-2.4e-01, do=3.7e-01)

pfsArm
= (x=179.73, 0=1.41)

calExp
= (x=179.49, 0=1.78)
| == Residual*5

i

L

NI

= (x=184.18, 0=1.39)

calExp
(x=184.53, 0=2.14)

7| == Residuars

— Trace -

) H mpl] L
i -|. - HY--FE-1=
Y=3614 (dx=1.1e-01, do=7.1e-01)

] ]

'J

pfsArm
== (x=183.09, 0=1.31)

calExp
muls 18320 0=2.01)
e Residual*s
= Trace

Y=963 (dx=-7.9e-02, do=1.3e-01)

pfsArm
= (x=173.42, 0=1.34)

calExp
- (x= 173 34, 0=1.47)
= Residual*5

== Trace

Y=1927 (dx=-1.1e+00,

pfsArm

= (x=181.46, 0=1.26)
calExp

| ™ (x=180.38, 0=1.89)

e Residual*5
= Trace

00, do=5.8e-01)

Il L

pfsArm
= (x=184.30, 0=1.48)

calExp
(x=183.25, 0=2.07)
=== Residual*s

W Y——

all
L

Y=3855 (dx=-5.7e-01, do=6.6e-01)
I :It T L
:t 5
pfsArm

m—(x=181.50, 0=1.40)
calExp

- (x= 130 92, 0=2.05)
m—Residual*s
== Trace
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Y=240 (dx=-4.6e-02, do=4.0e-01)

f=648, X=72.2

Y=481 (dx=3.8e-02, do=1.9e-01)

= (x=56.93, 0=1.56)
e Residual*5
== Trace

T pfsArm T pfsArm
= (x=56.98, 0=1.16) _ 1 = (x=61.06, 0=1.15)
calExp 1 calExp

= (x=61.10, 0=1.34)
m— Residual*s

Y=1204 (dx=4.4e-02, do=1.7e-01)

Y=1445 (dx=-1.5e-02, do=1.3e-01)

e Residual*5

T pfsArm T pfsArm
1 = (x=70.23, 0=1.16) 1 = (x=72.43, 0=1.17)
1 calExp 1 calExp

= (x=7027,0=133) = (x=72.42,0=1.30)

e Residual*5

Y=2168 (dx=-4.6e-02, do=2.8e-01)

Y=2409 (dx=-7.5e-02, do=1.5e-01)

pfsArm T T pfsArm
= (x=77.05, 0=1.20) 1 1 = (x=77.86, 0=1.24)
calEx 1 calExp
= (x=77.01, 0=1.48) = (x=77.79, 0=1.40)
= Residual*5 = Residual*5
= Trace - Trace
— — I — —

Y=3132 (dx=-6.3e-02, do=1.3e-01)

Y=3373 (dx=-2.8e-01, do=3.0e-01)

pfsArm

= (x=78.48, 0=123)
calExp

= (x=78.41, 0=1.36)

= Residual*5

- Trace
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pfsArm T
= (x=77.77, 0=1.31) 1
calExp |

= (x=77.49, 0=1.60)
= Residual*5
= Trace

Y=722 (dx=-7.8e-02, do=9.1e-02)

T pfsArm
1 = (x=64.57, 0=1.19)
1 calExp

. = (x=64.49, 0=128)

e Residual*5

== Trace

Y=1686 (dx=-1.1e-01, do=2.0e-01)

pfsArm I
= (x=7429, 0=1.18) 1

calExp 1
— (x=74.19, 0=1.38)

e Residual*5

w— Trace

pfsArm
1 = (x=78.47,0=122)
1 calExp
—(x=78.26, 0=1.47)

e Residual*5

7| == Residual*5

Y=963 (dx=-9.3e-02, do=2.7e-01)

- pfsArm T
= (x=67.62, 0=1.17) 1
calExp 1

= (x=67.52, 0=1.44)

e Residual*5

Y=1927 (dx=-1.9e-01, do=2.9e-01)

- I pfsArm
1 = (x=75.78, 0=122)
1 calExp

= (x=75.60, 0=1.52)
e Residual*5
= Trace

pfsArm I
= (x=78.62, 0=1.28) 1
calEx|

= (x=78.68, 0=1.57)

== Trace

pfsArm
— (x=76.67, 0=1.29)

calExp
= (x=76.46, 0=1.73)
e Residual*5
= Trace

pfsArm

= (x=75.09, 0=1.22)
calExp

= (x=75.25, 0=1.65)

e Residual*5

= Trace
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Y=240 (dx=-4.6e-01, do=7.2e-01)

f=649, X=65.9

Y=481 (dx=-4.7e-01, do=3.8e-01)

Y=722 (dx=-2.6e-02, do=2.7e-01)

pfsArm

= (x=50.42, 0=1.47)
calExp

_ = 4995 0=2.19)

_| == Residuaits

I
I
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-

1

pfsArm
= (x=54.30, 0=1.68)

calEx|
- (x= 53 83, 0=2.06)
m— Residual*s
== Trace

J

[

pfsArm
= (x=58.28, 0=1.29)

calEx|
- (x= 5825 0=1.57)

e Residual*s
| ~

Il

Y= 1445

dx=-6.6e-01, do=3.8e-01)

Y=1686 '(dx=6.7e-o'1,

== Trace
do=3.6e- 01)

pfsArm
= (x=64.04, 0=1.40)
calExp
- (x=63.92, 0=1.88)
e Residual*5
= Trace

)

pfsArm
(x=66.12, 0=1.52)

calExj
_(x= 65 46, 0=1.90)
= Residual*5
w— Trace

L
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pfsArm
(x=68.07, 0=1.37)
calExp
= (x=68.74, 0=1.73)
w= Residual*5
= Trace

Y=2409 (d>'<=-6.4e-01' do=4.1e-01)

!

pfsArm
= (x=70.33, 0=1.69)

calExp
= (x=69.46, 0=1.74)
e Residual*5

™ = Trace

e, PfSATM
= (x=71.24, 0=1.69)

_ clbxp
= (x=70.61, 0=2.10)

e Residual*5

w— Trace
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Y=2650 (dx=-6.6e-01, do=6. 6e- 01)
T
= F:Zyrzmls, 0=1.43) 1
calExp 1

= (x=71.50, 0=2.09)
= Residual*5
= Trace

Ju
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Y=3132 (dx=-1.1e+0

0, do=1.8e-01)

Y=3373 (dx=-8.6e-02, do=3.2e-01)

Y=3614 (dx=4.7e-01, do=5.2e-01)

- pfsArm

= (x=72.17, 0=1.42)
calEx|

- (x= 7106 0=1.59)

e Residual*5

= Trace

i

pfsArm

== (x=71.36, 0=1.50)
calEx

_(x= 71 28, 0=1.82)

e Residual*5

= Trace

I

pfsArm
= (x=70.33, 0=1.43)

calExp
- (x= 7080 0=1.95)
wm— Residual*5
= Trace

Y=963 (dx=2.9e-01, do=5.2e-01)

SN

pfsArm
= (x=6121,0=1.51)
calExp
= (x=61.50, 0=2.03)
== Residual*5
= Trace

_'i-il_':'_

Y=1927 (dx=-1.9e-

pfsArm L
= (x=69.17, 0=1.68)

calExp
= (x=68.98,0=2.12)
== Residual*5

= Trace

s
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Y=2891 (dx=-7.8e-02, do=4.0e-01)

1

ud I_
2]

pfsArm
= (x=72.35, 0=1.36)

calExp

(x=72.28, 0=1.75)
e Residual*5
= Trace
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Y=3855 (dx=-9.1e-01, do=-9.6e-02)
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..,[ﬂ__

pfsArm

= (x=68.03, 0=1.86)
calExp

- (x= 6712 0=1.77)

e Residual*5
= Trace
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Y=240 (dx=-3.2e-02, do=5.9e-01)

f=650, X=59.8

Y=481 (dx=-1.7e-01, do=4.1e-01)

fSArm
_(x 44.45, 0= IIBDIJL

calExp
- (x=44.42, 0=177)

_| == Residual*s
== Trace

pfsArm
=== (x=48.58, 0=1.17)

calExp
= (x=48.42, 0=1.59)
e Residual*5
== Trace

7

Y=1204 (dx=-1.5e-01, do=2.9e-01)

pfsArm I - pfsArm I
= (x=57.81, 0=1.18) 1 = (x=60.07, 0=1.20) 1
- calExp 1 calExj 1
= (x=57.65, 0=1.46) = _(x= 59 97, 0=1.55)
= Residual*5 1 e Residual*5
= Trace = Trace
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Y=2168 (dx=-2.7e-01, do=4.1e-01)

Y=2409 (dx=-1. 2e- 01, do=4. 6e- 01)

pfsArm
= (x=64.65, 0=121)

calExp
= (x=64.38, 0=1.62)
mem Residual*5

= Trace

0T

pfsArm
= (x=65.55, 0=1.23)

calExp
= (x=65.43, 0=1.68)
= Residual*5

| Trace

— PZets -125) I-'
calEx

- (x= 6613 0=1.75)

e Residual*5

| == Trace

L

pfsArm
= (x=65.44, 0=125)

i

calEx
(x=! 64 96, 0=1.67)

e Residual*s

Y=722 (dx=-8.2e-02, do=3.4e-01)

pfsArm
1 = (x=52.16, 0=1.20)

calExp
= (x=52.08, 0=1.54)
e Residual*5
== Trace

I

Y=1686 (dx=-2.0e-01, do=3.0e-01)

I pfsArm
1 = (x=61.89, 0=1.19)
1 calExp
= (x=61.69, 0=1.49)
e Residual*5
= Trace

pfsArm
= (x=66.12, 0=124)
calExp
(x=66.27, 0=1.78)
e Residual*5
= Trace

Pl

'Y=3614 (dx=1.8e-01, do=3.2e-01)

pfsArm T
= (x=64.30, 0=1.26)
calEx
- (x= 6448 0=1.58)
e Residual*5

== Trace

Y=963 (dx=1.2e-02, do=3.1e-01)

pfsArm
1 = (x=5521, 0=1.18)

calExp
= (x=55.22, 0=1.49)
w— Residual*s

== Trace

JL"‘

pfsArm
= (x=63.45, 0=1.22)

calExp
m—(x=63.28, 0=1.57)
e Residual*5
w Trace

—_——u -

pfsArm
= (x=66.31, 0=1.26) 1

calExp
(x=66.71, 0=1.58)

e Residual*s

w Trace

pfsArm
= (x=62.57, 0=1.23)

calExp
(x=62.18, 0=1.70)

= Residual*s

== Trace




